Table 1: Initial Claims by County of Residence

December 2019

County of Residence	All Programs	UI	UCFE	UCX
State Total	20,008	19,974	19	15
Adair	71	71	-	-
Allen	72	72	-	-
Anderson	383	383	-	-
Ballard	40	40	-	-
Barren	239	234	5	-
Bath	138	138	-	-
Bell	61	61	-	-
Boone	238	238	-	-
Bourbon	46	46	-	-
Boyd	198	198	-	-
Boyle	110	110	-	-
Bracken	43	43	-	-
Breathitt	78	78	-	-
Breckinridge	112	112	-	-
Bullitt	361	361	-	-
Butler	67	67	-	-
Caldwell	62	62	-	-
Calloway	238	237	1	-
Campbell	162	162	-	-
Carlisle	17	17	-	-
Carroll	44	44	-	-
Carter	317	317	-	-
Casey	73	73	-	-
Christian	517	513	1	3

Table 1: Initial Claims by County of Residence

December 2019

County of Residence	All Programs	UI	UCFE	UCX
Clark	113	113	-	
Clay	35	35	-	_
Clinton	33	33	-	
Crittenden	34	34		
	42	42		
Cumberland	371	371		
Daviess			-	-
Edmonson	63	62	1	-
Elliott	76	76	-	-
Estill	63	63	-	-
Fayette	612	610	-	2
Fleming	88	88	-	-
Floyd	116	116	-	-
Franklin	231	231	-	-
Fulton	13	13	-	-
Gallatin	25	25	-	-
Garrard	61	61	-	-
Grant	94	94	-	-
Graves	152	152	-	-
Grayson	292	292	-	-
Green	61	61	-	-
Greenup	196	196	-	-
Hancock	17	17	-	-
Hardin	936	936	-	-
Harlan	141	141	-	-
Harrison	39	39	-	-

Table 1: Initial Claims by County of Residence

December 2019

County of Residence	All Programs	UI	UCFE	UCX
Hart	101	101	-	-
Henderson	111	111	-	-
Henry	56	56	-	-
Hickman	22	22	-	-
Hopkins	173	173	-	-
Jackson	52	52	-	-
Jefferson	3,168	3,164	2	2
Jessamine	101	101	-	-
Johnson	90	90	-	-
Kenton	333	333	-	-
Knott	44	44	-	-
Knox	57	57	-	-
Larue	66	66	-	-
Laurel	145	145	-	-
Lawrence	75	75	-	-
Lee	35	35	-	-
Leslie	74	74	-	-
Letcher	87	86	1	-
Lewis	101	101	-	-
Lincoln	141	141	-	-
Livingston	73	73	-	-
Logan	83	83	-	-
Lyon	48	48	-	-
Madison	286	286	-	-
Magoffin	141	141	-	-

Table 1: Initial Claims by County of Residence

December 2019

County of Posidones	All Programs	UI	UCFE	UCX
County of Residence Marion	161	159	1	1
	195	195	· -	<u> </u>
Marshall	30	30		
Martin			-	-
Mason	93	93	-	-
McCracken	335	335	-	-
McCreary	62	62	-	-
McLean	39	39	-	-
Meade	120	120	-	-
Menifee	67	67	-	-
Mercer	88	88	-	-
Metcalfe	76	76	-	-
Monroe	63	63	-	-
Montgomery	167	166	-	1
Morgan	102	102	-	-
Muhlenberg	191	191	-	-
Nelson	453	453	-	-
Nicholas	30	30	-	-
Ohio	121	121	-	-
Oldham	113	113	-	-
Owen	23	23	-	-
Owsley	13	13	-	-
Pendleton	47	47	-	-
Perry	109	109	-	-
Pike	188	188	-	-
Powell	80	80	-	-

Table 1: Initial Claims by County of Residence

December 2019

County of Residence	All Programs	UI	UCFE	UCX
Pulaski	307	306	1	-
Robertson	13	13	-	-
Rockcastle	73	73	-	-
Rowan	156	156	-	-
Russell	52	52	-	-
Scott	147	147	-	-
Shelby	113	113	-	-
Simpson	85	85	-	-
Spencer	67	67	-	-
Taylor	264	264	-	-
Todd	39	39	-	-
Trigg	140	139	1	-
Trimble	29	29	-	-
Union	39	39	-	-
Warren	462	459	3	-
Washington	75	75	-	-
Wayne	88	88	-	-
Webster	44	44	-	-
Whitley	125	125	-	-
Wolfe	53	53	-	-
Woodford	44	44	-	-
Interstate	433	425	2	6
Commuter	940	940	-	-

Table 2: Non-Monetary Determinations by County of Residence

December 2019

County of Residence	Total All Programs	UI	UCFE	UCX	SEP	DISQ	NSEP	DISQ
State Total	4,527	4,486	21	20	2,702	1,381	1,786	1,281
Adair	10	10	-	-	8	4	2	2
Allen	11	11	-	-	7	3	4	4
Anderson	33	33	-	-	18	8	15	10
Ballard	5	5	-	-	5	2	-	-
Barren	48	48	-	-	35	18	13	11
Bath	19	19	-	-	15	9	4	4
Bell	15	15	-	-	7	4	8	7
Boone	90	90	-	-	49	19	41	21
Bourbon	15	15	-	-	10	3	5	1
Boyd	42	42	-	-	25	14	17	14
Boyle	29	29	-	-	23	11	6	6
Bracken	8	8	-	-	4	2	4	3
Breathitt	12	12	-	-	6	4	6	6
Breckinridge	15	15	-	-	7	3	8	7
Bullitt	72	70	-	2	46	25	24	15
Butler	18	18	-	-	7	3	11	9
Caldwell	17	17	-	-	8	6	9	7
Calloway	23	23	-	-	9	7	14	13
Campbell	56	54	2	-	29	15	25	18
Carlisle	3	3	-	-	1	-	2	2
Carroll	15	15	-	-	8	6	7	6
Carter	12	12	-	-	3	1	9	6
Casey	16	16	-	-	9	4	7	6
Christian	103	100	1	2	55	26	45	36

Table 2: Non-Monetary Determinations by County of Residence

December 2019

County of Residence	Total All Programs	UI	UCFE	UCX	SEP	DISQ	NSEP	DISQ
Clark	42	42	-	-	22	15	20	11
Clay	21	21	-	-	14	9	7	5
Clinton	5	5	-	-	3	2	2	2
Crittenden	2	2	-	-	1	1	1	-
Cumberland	4	4	-	-	2	2	2	2
Daviess	101	101	-	-	66	32	35	17
Edmonson	18	18	-	-	9	6	9	7
Elliott	6	6	-	-	4	2	2	2
Estill	14	14	-	-	10	6	4	1
Fayette	278	278	-	-	161	71	117	71
Fleming	13	13	-	-	7	4	6	5
Floyd	24	24	-	-	12	7	12	12
Franklin	54	54	-	-	37	17	17	12
Fulton	8	8	-	-	4	1	4	2
Gallatin	8	8	-	-	5	3	3	3
Garrard	22	22	-	-	15	10	7	6
Grant	30	30	-	-	20	9	10	8
Graves	41	41	-	-	24	11	17	14
Grayson	30	30	-	-	20	6	10	8
Green	11	11	-	-	5	5	6	4
Greenup	25	24	1	-	13	8	11	7
Hancock	7	7	-	-	2	1	5	3
Hardin	137	131	2	4	88	47	43	33
Harlan	23	22	-	1	11	5	11	7
Harrison	13	13	-	-	8	5	5	3

Table 2: Non-Monetary Determinations by County of Residence

December 2019

County of Residence	Total All Programs	UI	UCFE	UCX	SEP	DISQ	NSEP	DISQ
Hart	40	40	-	-	18	10	22	5
Henderson	30	30	-	-	25	11	5	3
Henry	13	13	-	-	9	6	4	2
Hickman	8	8	-	-	3	1	5	4
Hopkins	53	53	-	-	32	23	21	17
Jackson	14	14	-	-	4	2	10	10
Jefferson	889	883	2	4	533	266	350	268
Jessamine	38	38	-	-	29	13	9	5
Johnson	21	20	1	-	13	7	7	7
Kenton	115	112	3	-	66	35	46	26
Knott	4	4	-	-	3	2	1	1
Knox	22	22	-	-	14	8	8	7
Larue	12	12	-	-	7	2	5	2
Laurel	67	67	-	-	37	20	30	22
Lawrence	17	17	-	-	10	5	7	4
Lee	4	4	-	-	2	1	2	2
Leslie	13	13	-	-	8	6	5	4
Letcher	18	18	-	-	10	7	8	7
Lewis	16	16	-	-	9	6	7	7
Lincoln	19	19	-	-	13	5	6	5
Livingston	12	12	-	-	6	1	6	5
Logan	27	27	-	-	13	7	14	9
Lyon	5	5	-	-	2	1	3	3
Madison	75	74	-	1	46	24	28	17
Magoffin	10	10	-	-	7	3	3	3

Table 2: Non-Monetary Determinations by County of Residence

December 2019

	Total All							
County of Residence	Programs	UI	UCFE	UCX	SEP	DISQ	NSEP	DISQ
Marion	24	24	-	-	15	9	9	7
Marshall	25	25	-	-	16	11	9	8
Martin	-	-	-	-	-	-	-	-
Mason	11	11	-	-	9	5	2	1
McCracken	77	77	-	-	48	26	29	27
McCreary	11	11	-	-	6	2	5	2
McLean	11	11	-	-	9	6	2	2
Meade	17	16	-	1	14	5	2	2
Menifee	9	9	-	-	8	5	1	-
Mercer	24	24	-	-	12	6	12	10
Metcalfe	5	5	-	-	4	2	1	1
Monroe	6	6	-	-	3	3	3	3
Montgomery	37	37	-	-	29	10	8	5
Morgan	6	6	-	-	3	2	3	3
Muhlenberg	42	40	-	2	26	19	14	10
Nelson	54	54	-	-	35	16	19	10
Nicholas	1	1	-	-	1	1	-	-
Ohio	22	22	-	-	15	4	7	4
Oldham	35	35	-	-	19	10	16	8
Owen	3	3	-	-	2	2	1	1
Owsley	2	2	-	-	1	1	1	1
Pendleton	12	12	-	-	4	4	8	5
Perry	26	26	-	-	14	7	12	11
Pike	35	35	-	-	24	12	11	10
Powell	13	13	-	-	6	4	7	3

Table 2: Non-Monetary Determinations by County of Residence

December 2019

County of Residence	Total All Programs	UI	UCFE	UCX	SEP	DISQ	NSEP	DISQ
Pulaski	49	49	-	-	34	22	15	11
Robertson	2	2	-	-	1	-	1	1
Rockcastle	11	11	-	-	8	2	3	3
Rowan	30	30	-	-	15	12	16	14
Russell	18	18	-	-	10	2	8	5
Scott	50	50	-	-	29	14	21	13
Shelby	43	43	-	-	26	16	17	13
Simpson	28	28	-	-	16	7	12	4
Spencer	13	13	-	-	7	2	6	5
Taylor	17	17	-	-	12	7	5	5
Todd	4	4	-	-	1	1	3	1
Trigg	13	11	1	1	6	4	5	5
Trimble	9	9	-	-	3	2	6	6
Union	15	15	-	-	9	4	6	2
Warren	144	144	-	-	79	39	65	51
Washington	13	13	-	-	6	3	7	7
Wayne	19	19	-	-	11	6	8	6
Webster	5	5	-	-	4	3	1	1
Whitley	43	43	-	-	24	15	19	17
Wolfe	13	13	-	-	8	6	5	4
Woodford	25	25	-	-	12	4	13	5
Interstate	102	101	1	-	70	36	31	24
Commuter	187	178	7	2	112	48	67	40

Table 3: Benefit Payments and Exhaustions by County of Residence

December 2019

County of Residence	Unemployment Insurance Paid	Weeks Insurance Paid	Average Benefit Payment	Program Exhaustees
State Total	28,225,605	74,198	380	1,169
Adair	94,663	293	323	2
Allen	71,424	201	355	6
Anderson	266,449	624	427	9
Ballard	58,815	177	332	5
Barren	233,779	685	341	11
Bath	113,106	309	366	1
Bell	269,628	652	414	25
Boone	519,362	1,252	415	26
Bourbon	121,360	328	370	6
Boyd	271,892	669	406	11
Boyle	147,681	378	391	10
Bracken	65,745	146	450	-
Breathitt	119,034	358	332	4
Breckinridge	116,331	343	339	3
Bullitt	549,927	1,398	393	22
Butler	86,415	225	384	10
Caldwell	84,547	244	347	9
Calloway	164,800	540	305	6
Campbell	332,232	795	418	21
Carlisle	24,449	67	365	-
Carroll	60,390	155	390	4
Carter	273,499	691	396	8
Casey	62,427	188	332	3
Christian	411,664	1,112	370	18
Clark	196,023	518	378	13
Clay	111,976	276	406	10
Clinton	55,702	201	277	4

Table 3: Benefit Payments and Exhaustions by County of Residence

December 2019

County of Residence	Unemployment Insurance Paid	Weeks Insurance Paid	Average Benefit Payment	Program Exhaustees
Crittenden	38,651	112	345	-
Cumberland	28,921	121	239	-
Daviess	466,646	1,237	377	20
Edmonson	56,437	186	303	-
Elliott	84,561	207	409	1
Estill	86,775	261	332	3
Fayette	1,315,828	3,315	397	56
Fleming	91,502	259	353	3
Floyd	244,778	694	353	8
Franklin	218,116	590	370	10
Fulton	18,582	63	295	1
Gallatin	23,372	59	396	3
Garrard	104,477	288	363	5
Grant	115,212	302	381	3
Graves	203,749	580	351	12
Grayson	232,545	704	330	8
Green	49,719	142	350	2
Greenup	224,185	554	405	11
Hancock	28,284	87	325	2
Hardin	610,869	1,662	368	24
Harlan	595,259	1,294	460	12
Harrison	82,951	240	346	6
Hart	281,013	740	380	2
Henderson	172,823	467	370	9
Henry	77,047	196	393	4
Hickman	20,632	76	271	1
Hopkins	274,810	719	382	12
Jackson	73,286	216	339	2

Table 3: Benefit Payments and Exhaustions by County of Residence

December 2019

	Unemployment	Weeks Insurance	Average Benefit	Program
County of Residence	Insurance Paid	Paid	Payment	Exhaustees
Jefferson	4,291,468	11,411	376	196
Jessamine	226,192	577	392	11
Johnson	104,606	343	305	5
Kenton	692,097	1,816	381	35
Knott	84,532	219	386	5
Knox	145,219	436	333	8
Larue	82,846	233	356	4
Laurel	307,189	847	363	30
Lawrence	93,442	259	361	3
Lee	34,027	101	337	-
Leslie	202,534	442	458	4
Letcher	328,707	759	433	4
Lewis	101,145	272	372	6
Lincoln	109,332	320	342	4
Livingston	65,307	210	311	3
Logan	176,334	427	413	4
Lyon	43,176	119	363	1
Madison	419,326	1,111	377	27
Magoffin	213,499	554	385	7
Marion	105,256	279	377	5
Marshall	229,694	659	349	4
Martin	34,771	108	322	3
Mason	119,836	287	418	7
McCracken	408,202	1,169	349	22
McCreary	71,059	190	374	3
McLean	55,321	136	407	4
Meade	158,217	422	375	7
Menifee	66,721	214	312	4

Table 3: Benefit Payments and Exhaustions by County of Residence

December 2019

	Unemployment	Weeks Insurance	Average Benefit	Program
County of Residence	Insurance Paid	Paid	Payment	Exhaustees
Mercer	162,393	434	374	6
Metcalfe	85,060	243	350	10
Monroe	39,599	103	384	1
Montgomery	210,949	562	375	11
Morgan	101,023	270	374	2
Muhlenberg	247,450	651	380	9
Nelson	297,432	773	385	11
Nicholas	43,760	122	359	2
Ohio	176,213	439	401	5
Oldham	218,652	503	435	8
Owen	37,373	110	340	1
Owsley	12,328	29	425	1
Pendleton	60,169	153	393	10
Perry	293,798	701	419	7
Pike	407,013	990	411	14
Powell	103,978	299	348	5
Pulaski	328,271	991	331	20
Robertson	9,951	54	184	-
Rockcastle	64,073	184	348	6
Rowan	158,495	450	352	7
Russell	85,045	330	258	5
Scott	265,264	715	371	15
Shelby	175,328	447	392	5
Simpson	163,892	386	425	5
Spencer	107,523	260	414	7
Taylor	127,272	423	301	4
Todd	74,245	185	401	3
Trigg	91,531	295	310	3

Table 3: Benefit Payments and Exhaustions by County of Residence

County of Residence	Unemployment Insurance Paid	Weeks Insurance Paid	Average Benefit Payment	Program Exhaustees
Trimble	38,225	88	434	3
Union	57,184	152	376	3
Warren	825,172	2,182	378	29
Washington	61,907	191	324	4
Wayne	103,646	347	299	1
Webster	70,169	185	379	1
Whitley	181,121	596	304	11
Wolfe	63,080	173	365	1
Woodford	195,218	450	434	2
Interstate	1,030,331	2,402	429	48
Commuter	1,777,067	4,214	422	-

Table 4: Total Insured Unemployment and Average Weekly Claimants by County of Residence

	Average Number of	Total Weeks Claimed			
County of Residence	Weeks Claimed	All Programs	UI	UCFE	UCX
State Total	20,376	90,558	89,117	957	484
Adair	78	347	347	-	-
Allen	58	259	259	-	-
Anderson	175	777	777	-	-
Ballard	45	202	202	-	-
Barren	210	935	911	24	-
Bath	87	385	385	-	-
Bell	168	747	741	6	-
Boone	346	1,537	1,498	39	-
Bourbon	85	376	376	-	-
Boyd	191	851	848	-	3
Boyle	101	448	448	-	-
Bracken	41	182	178	4	-
Breathitt	92	411	411	-	-
Breckinridge	96	426	426	-	-
Bullitt	379	1,685	1,683	-	2
Butler	64	283	283	-	-
Caldwell	70	309	309	-	-
Calloway	149	662	662	-	-
Campbell	229	1,019	961	48	10
Carlisle	19	84	80	-	4
Carroll	43	193	193	-	-
Carter	194	860	860	-	-
Casey	54	238	238	-	-
Christian	360	1,602	1,513	10	79
Clark	143	634	628	-	6

Table 4: Total Insured Unemployment and Average Weekly Claimants by County of Residence

	Average Number of	Total Weeks Claimed			
County of Residence	Weeks Claimed	All Programs	UI	UCFE	UCX
Clay	72	321	315	6	-
Clinton	56	249	245	4	-
Crittenden	33	148	148	-	-
Cumberland	35	154	154	-	-
Daviess	353	1,567	1,567	-	-
Edmonson	51	228	223	1	4
Elliott	55	245	245	-	-
Estill	73	323	319	4	-
Fayette	899	3,995	3,978	10	7
Fleming	73	324	316	-	8
Floyd	187	829	829	-	-
Franklin	153	681	681	-	-
Fulton	15	68	68	-	-
Gallatin	20	90	90	-	-
Garrard	74	328	328	-	-
Grant	87	385	379	6	-
Graves	156	693	687	6	-
Grayson	184	817	817	-	-
Green	42	187	185	2	-
Greenup	153	682	676	-	6
Hancock	20	90	90	-	-
Hardin	483	2,148	2,060	24	64
Harlan	315	1,400	1,394	-	6
Harrison	66	293	291	2	-
Hart	192	855	841	14	-
Henderson	130	579	579	-	-

Table 4: Total Insured Unemployment and Average Weekly Claimants by County of Residence

County of Residence	Average Number of Weeks Claimed	Total Weeks Claimed All Programs	UI	UCFE	UCX
Henry	54	240	240	-	-
Hickman	21	92	92	-	-
Hopkins	200	891	889	2	-
Jackson	65	287	287	-	-
Jefferson	3,097	13,764	13,715	28	21
Jessamine	158	704	688	6	10
Johnson	98	436	434	2	-
Kenton	498	2,215	2,099	116	-
Knott	57	255	255	-	-
Knox	123	548	539	2	7
Larue	64	284	284	-	-
Laurel	227	1,011	1,009	2	-
Lawrence	71	314	314	-	-
Lee	27	122	122	-	-
Leslie	110	487	487	-	-
Letcher	197	874	860	10	4
Lewis	75	335	335	-	-
Lincoln	91	404	394	-	10
Livingston	60	266	260	6	-
Logan	112	497	497	-	-
Lyon	34	152	152	-	-
Madison	298	1,324	1,318	-	6
Magoffin	144	638	638	-	-
Marion	83	369	365	-	4
Marshall	175	777	777	-	-
Martin	26	116	116	-	-

Table 4: Total Insured Unemployment and Average Weekly Claimants by County of Residence

		Total Weeks			
County of Residence	Average Number of Weeks Claimed	Claimed All Programs	UI	UCFE	UCX
Mason	76	339	339	-	-
McCracken	340	1,512	1,512	-	-
McCreary	52	232	228	4	-
McLean	35	155	153	2	-
Meade	112	498	486	4	8
Menifee	62	275	271	4	-
Mercer	116	516	508	8	-
Metcalfe	63	282	282	-	-
Monroe	27	120	120	-	-
Montgomery	147	654	647	-	7
Morgan	74	328	328	-	-
Muhlenberg	188	837	829	-	8
Nelson	214	953	951	-	2
Nicholas	37	164	164	-	-
Ohio	118	523	523	-	-
Oldham	136	604	601	-	3
Owen	26	115	115	-	-
Owsley	9	39	39	-	-
Pendleton	45	201	201	-	-
Perry	180	799	799	-	-
Pike	265	1,177	1,172	-	5
Powell	85	379	379	-	-
Pulaski	277	1,229	1,221	8	-
Robertson	7	33	33	-	-
Rockcastle	52	231	229	-	2
Rowan	140	622	622	-	-

Table 4: Total Insured Unemployment and Average Weekly Claimants by County of Residence

		Total Weeks			
Country of Basidanas	Average Number of	Claimed		ПСЕЕ	HCV
County of Residence	Weeks Claimed	All Programs	UI	UCFE	UCX
Russell	92	409	405	-	4
Scott	181	806	806	-	-
Shelby	125	556	554	-	2
Simpson	99	440	440	-	-
Spencer	69	307	307	-	-
Taylor	109	485	485	-	-
Todd	49	216	216	-	-
Trigg	84	374	366	-	8
Trimble	29	130	130	-	-
Union	40	179	179	-	-
Warren	586	2,606	2,591	9	6
Washington	54	242	242	-	-
Wayne	93	413	407	-	6
Webster	47	211	205	-	6
Whitley	160	710	710	-	-
Wolfe	52	230	230	-	-
Woodford	107	477	477	-	-
Interstate	669	2,974	2,822	112	40
Commuter	1,225	5,443	4,905	422	116

Table 5: Weeks Claimed by County of Residence

December 2019

County of Residence	Total All Programs	Regular UI	UCFE	UCX
State Total	90,558	89,117	957	484
Adair	347	347	-	-
Allen	259	259	-	-
Anderson	777	777	-	-
Ballard	202	202	-	-
Barren	935	911	24	-
Bath	385	385	-	-
Bell	747	741	6	-
Boone	1,537	1,498	39	-
Bourbon	376	376	-	-
Boyd	851	848	-	3
Boyle	448	448	-	-
Bracken	182	178	4	-
Breathitt	411	411	-	-
Breckinridge	426	426	-	-
Bullitt	1,685	1,683	-	2
Butler	283	283	-	-
Caldwell	309	309	-	-
Calloway	662	662	-	-
Campbell	1,019	961	48	10
Carlisle	84	80	-	4
Carroll	193	193	-	-
Carter	860	860	-	-
Casey	238	238	-	-
Christian	1,602	1,513	10	79
Clark	634	628	-	6
Clay	321	315	6	-
Clinton	249	245	4	-

Table 5: Weeks Claimed by County of Residence

December 2019

County of Residence	Total All Programs	Regular UI	UCFE	UCX
Crittenden	148	148	-	-
Cumberland	154	154	-	-
Daviess	1,567	1,567	-	-
Edmonson	228	223	1	4
Elliott	245	245	-	-
Estill	323	319	4	-
Fayette	3,995	3,978	10	7
Fleming	324	316	-	8
Floyd	829	829	-	-
Franklin	681	681	-	-
Fulton	68	68	-	-
Gallatin	90	90	-	-
Garrard	328	328	-	-
Grant	385	379	6	-
Graves	693	687	6	-
Grayson	817	817	-	-
Green	187	185	2	-
Greenup	682	676	-	6
Hancock	90	90	-	-
Hardin	2,148	2,060	24	64
Harlan	1,400	1,394	-	6
Harrison	293	291	2	-
Hart	855	841	14	-
Henderson	579	579	-	-
Henry	240	240	-	-
Hickman	92	92	-	-
Hopkins	891	889	2	-
Jackson	287	287	-	-

Table 5: Weeks Claimed by County of Residence

December 2019

County of Residence	Total All Programs	Regular UI	UCFE	UCX
Jefferson	13,764	13,715	28	21
Jessamine	704	688	6	10
Johnson	436	434	2	-
Kenton	2,215	2,099	116	-
Knott	255	255	-	-
Knox	548	539	2	7
Larue	284	284	-	-
Laurel	1,011	1,009	2	-
Lawrence	314	314	-	-
Lee	122	122	-	-
Leslie	487	487	-	-
Letcher	874	860	10	4
Lewis	335	335	-	-
Lincoln	404	394	-	10
Livingston	266	260	6	-
Logan	497	497	-	-
Lyon	152	152	-	-
Madison	1,324	1,318	-	6
Magoffin	638	638	-	-
Marion	369	365	-	4
Marshall	777	777	-	-
Martin	116	116	-	-
Mason	339	339	-	-
McCracken	1,512	1,512	-	-
McCreary	232	228	4	-
McLean	155	153	2	-
Meade	498	486	4	8
Menifee	275	271	4	-

Table 5: Weeks Claimed by County of Residence

December 2019

County of Residence	Total All Programs	Regular UI	UCFE	UCX
Mercer	516	508	8	-
Metcalfe	282	282	-	-
Monroe	120	120	-	-
Montgomery	654	647	-	7
Morgan	328	328	-	-
Muhlenberg	837	829	-	8
Nelson	953	951	-	2
Nicholas	164	164	-	-
Ohio	523	523	-	-
Oldham	604	601	-	3
Owen	115	115	-	-
Owsley	39	39	-	-
Pendleton	201	201	-	-
Perry	799	799	-	-
Pike	1,177	1,172	-	5
Powell	379	379	-	-
Pulaski	1,229	1,221	8	-
Robertson	33	33	-	-
Rockcastle	231	229	-	2
Rowan	622	622	-	-
Russell	409	405	-	4
Scott	806	806	-	-
Shelby	556	554	-	2
Simpson	440	440	-	-
Spencer	307	307	-	-
Taylor	485	485	-	-
Todd	216	216	-	-
Trigg	374	366	-	8

Table 5: Weeks Claimed by County of Residence

	Total All			
County of Residence	Programs	Regular UI	UCFE	UCX
Trimble	130	130	-	-
Union	179	179	-	-
Warren	2,606	2,591	9	6
Washington	242	242	-	-
Wayne	413	407	-	6
Webster	211	205	-	6
Whitley	710	710	-	-
Wolfe	230	230	-	-
Woodford	477	477	-	-
Interstate	2,974	2,822	112	40
Commuter	5,443	4,905	422	116

Table 6: Selected Characteristics of the Insured Unemployed During the Week Including the 19th By County of Residence

December 2019

County of Residence	Total Insured Unemployed	Percent Female	Percent Non-White	Percent Age 21 and Under
State Total	18,880	36.0%	11.6%	1.4%
Adair	92	36.4%	-	9.1%
Allen	54	30.8%	-	-
Anderson	175	14.3%	-	4.8%
Ballard	33	25.0%	-	-
Barren	150	61.1%	5.6%	-
Bath	75	11.1%	-	-
Bell	108	30.8%	7.7%	-
Boone	317	44.7%	15.8%	-
Bourbon	67	25.0%	-	-
Boyd	121	17.2%	-	-
Boyle	213	49.0%	3.9%	7.8%
Bracken	50	-	-	-
Breathitt	88	38.1%	-	-
Breckinridge	75	55.6%	11.1%	-
Bullitt	279	49.3%	-	3.0%
Butler	-	-	-	-
Caldwell	42	80.0%	-	-
Calloway	83	50.0%	-	-
Campbell	246	37.3%	3.4%	-
Carlisle	17	50.0%	-	-
Carroll	17	50.0%	-	-
Carter	204	12.2%	-	6.1%
Casey	17	-	-	-
Christian	304	42.5%	45.2%	-

Regular state UI weeks claimed during the week including 19th.

Table 6: Selected Characteristics of the Insured Unemployed During the Week Including the 19th By County of Residence

December 2019

County of Residence	Total Insured Unemployed	Percent Female	Percent Non-White	Percent Age 21 and Under
Clark	108	46.2%	15.4%	7.7%
Clay	33	75.0%	-	-
Clinton	88	81.0%	-	-
Crittenden	8	100.0%	-	-
Cumberland	33	50.0%	25.0%	-
Daviess	354	40.0%	8.2%	-
Edmonson	42	30.0%	-	-
Elliott	8	-	-	-
Estill	54	-	-	-
Fayette	750	46.7%	22.2%	-
Fleming	46	72.7%	-	-
Floyd	208	20.0%	-	4.0%
Franklin	188	24.4%	17.8%	-
Fulton	8	-	100.0%	-
Gallatin	17	-	-	-
Garrard	33	37.5%	-	-
Grant	88	52.4%	-	-
Graves	171	41.5%	36.6%	-
Grayson	63	20.0%	-	-
Green	42	-	-	-
Greenup	154	21.6%	-	-
Hancock	-	-	-	-
Hardin	354	24.7%	18.8%	4.7%
Harlan	300	16.7%	2.8%	-
Harrison	42	60.0%	-	-

Regular state UI weeks claimed during the week including 19th.

Table 6: Selected Characteristics of the Insured Unemployed During the Week Including the 19th By County of Residence

December 2019

County of Residence	Total Insured Unemployed	Percent Female	Percent Non-White	Percent Age 21 and Under
Hart	225	25.9%	7.4%	3.7%
Henderson	117	35.7%	7.1%	-
Henry	108	46.2%	-	-
Hickman	46	27.3%	-	-
Hopkins	196	27.7%	21.3%	-
Jackson	63	26.7%	-	-
Jefferson	2,734	47.3%	33.1%	1.2%
Jessamine	179	55.8%	14.0%	4.7%
Johnson	83	20.0%	-	-
Kenton	421	45.5%	5.9%	-
Knott	50	-	-	-
Knox	113	33.3%	-	-
Larue	83	30.0%	-	10.0%
Laurel	271	38.5%	3.1%	-
Lawrence	63	26.7%	-	-
Lee	17	-	-	50.0%
Leslie	58	14.3%	-	-
Letcher	171	19.5%	-	-
Lewis	75	11.1%	-	-
Lincoln	88	23.8%	-	-
Livingston	71	47.1%	-	-
Logan	125	26.7%	13.3%	-
Lyon	13	66.7%	33.3%	-
Madison	208	24.0%	-	-
Magoffin	104	8.0%	-	-

Regular state UI weeks claimed during the week including 19th.

Table 6: Selected Characteristics of the Insured Unemployed During the Week Including the 19th By County of Residence

December 2019

County of Residence	Total Insured Unemployed	Percent Female	Percent Non-White	Percent Age 21 and Under
Marion	100	58.3%	8.3%	-
Marshall	233	28.6%	-	-
Martin	42	40.0%	-	-
Mason	100	8.3%	16.7%	-
McCracken	425	52.0%	20.6%	-
McCreary	54	15.4%	-	-
McLean	46	18.2%	-	-
Meade	113	44.4%	7.4%	-
Menifee	50	66.7%	-	-
Mercer	92	54.5%	9.1%	-
Metcalfe	29	28.6%	-	-
Monroe	25	33.3%	-	-
Montgomery	158	36.8%	10.5%	5.3%
Morgan	58	-	-	-
Muhlenberg	171	17.1%	9.8%	-
Nelson	192	13.0%	8.7%	-
Nicholas	54	53.8%	-	15.4%
Ohio	142	17.6%	5.9%	-
Oldham	75	44.4%	-	-
Owen	8	100.0%	-	-
Owsley	8	-	-	-
Pendleton	33	-	-	-
Perry	158	10.5%	5.3%	-
Pike	192	21.7%	-	-
Powell	83	60.0%	-	-

Regular state UI weeks claimed during the week including 19th.

Table 6: Selected Characteristics of the Insured Unemployed During the Week Including the 19th By County of Residence

December 2019

County of Residence	Total Insured Unemployed	Percent Female	Percent Non-White	Percent Age 21 and Under
Pulaski	317	31.6%	-	2.6%
Robertson	8	100.0%	-	-
Rockcastle	100	20.8%	-	-
Rowan	100	58.3%	-	-
Russell	50	50.0%	-	-
Scott	242	41.4%	13.8%	6.9%
Shelby	129	58.1%	25.8%	-
Simpson	79	63.2%	21.1%	-
Spencer	50	66.7%	-	-
Taylor	125	63.3%	-	-
Todd	33	50.0%	-	-
Trigg	67	12.5%	12.5%	12.5%
Trimble	8	100.0%	-	-
Union	79	31.6%	-	-
Warren	533	28.1%	18.0%	1.6%
Washington	100	16.7%	-	-
Wayne	117	50.0%	-	14.3%
Webster	50	33.3%	-	-
Whitley	142	41.2%	-	-
Wolfe	75	44.4%	-	-
Woodford	67	25.0%	12.5%	-
Interstate	1,129	28.0%	5.5%	2.6%
Commuter	938	28.4%	5.3%	0.9%

Regular state UI weeks claimed during the week including 19th.

Table 7: Industry Attachement of Insured Unemployed During the Week Including the 19th by County of Residence

December 2019

County of Residence	Largest NAICS Sector	Percent of Insured Unemployed
Adair	Construction	27.3%
Allen	Admin. & Support/ Waste Mgmt/Remedia. Serv.	46.2%
Anderson	Manufacturing	83.3%
Ballard	Construction	25.0%
Ballard	Manufacturing	25.0%
Ballard	Health Care & Social Assistance	25.0%
Ballard	Information Not Available	25.0%
Barren	Manufacturing	30.6%
Bath	Construction	66.7%
Bell	Mining	46.2%
Boone	Wholesale Trade	18.4%
Bourbon	Manufacturing	37.5%
Boyd	Manufacturing	41.4%
Boyle	Retail Trade	15.7%
Boyle	Accomodation and Food Services	15.7%
Bracken	Transportation & Warehouses	33.3%
Breathitt	Manufacturing	42.9%
Breckinridge	Retail Trade	44.4%
Bullitt	Manufacturing	26.9%
Butler	None Calculated	0.0%
Caldwell	Admin. & Support/ Waste Mgmt/Remedia. Serv.	40.0%
Calloway	Wholesale Trade	30.0%
Campbell	Manufacturing	18.6%
Carlisle	Manufacturing	50.0%
Carlisle	Wholesale Trade	50.0%
Carroll	Wholesale Trade	50.0%
Carroll	Admin. & Support/ Waste Mgmt/Remedia. Serv.	50.0%

Table 7: Industry Attachement of Insured Unemployed During the Week Including the 19th by County of Residence

December 2019

County of Residence	Largest NAICS Sector	Percent of Insured Unemployed
Carter	Construction	40.8%
Casey	Manufacturing	50.0%
Casey	Professional/Scientific/Tech. Services	50.0%
Christian	Manufacturing	42.5%
Clark	Management of Companies & Enterprises	23.1%
Clay	Health Care & Social Assistance	50.0%
Clinton	Construction	42.9%
Crittenden	Health Care & Social Assistance	100.0%
Cumberland	Construction	50.0%
Cumberland	Arts, Entertianment & Recreation	50.0%
Daviess	Admin. & Support/ Waste Mgmt/Remedia. Serv.	27.1%
Edmonson	Manufacturing	30.0%
Elliott	Information Not Available	100.0%
Estill	Manufacturing	30.8%
Fayette	Admin. & Support/ Waste Mgmt/Remedia. Serv.	16.7%
Fleming	Admin. & Support/ Waste Mgmt/Remedia. Serv.	63.6%
Floyd	Construction	26.0%
Franklin	Admin. & Support/ Waste Mgmt/Remedia. Serv.	26.7%
Fulton	Manufacturing	100.0%
Gallatin	Construction	50.0%
Gallatin	Retail Trade	50.0%
Garrard	Manufacturing	37.5%
Garrard	Retail Trade	37.5%
Grant	Admin. & Support/ Waste Mgmt/Remedia. Serv.	38.1%
Graves	Construction	24.4%
Grayson	Construction	26.7%
Grayson	Health Care & Social Assistance	26.7%

Table 7: Industry Attachement of Insured Unemployed During the Week Including the 19th by County of Residence

December 2019

County of Residence	Largest NAICS Sector	Percent of Insured Unemployed
Green	Manufacturing	80.0%
Greenup	Manufacturing	45.9%
Hancock	None Calculated	0.0%
Hardin	Manufacturing	21.2%
Harlan	Mining	68.1%
Harrison	Construction	40.0%
Harrison	Admin. & Support/ Waste Mgmt/Remedia. Serv.	40.0%
Hart	Manufacturing	59.3%
Henderson	Manufacturing	21.4%
Henry	Construction	30.8%
Hickman	Admin. & Support/ Waste Mgmt/Remedia. Serv.	36.4%
Hopkins	Mining	34.0%
Jackson	Manufacturing	86.7%
Jefferson	Manufacturing	21.2%
Jessamine	Manufacturing	27.9%
Johnson	Construction	30.0%
Kenton	Manufacturing	18.8%
Kenton	Wholesale Trade	18.8%
Knott	Mining	83.3%
Knox	Retail Trade	33.3%
Larue	Admin. & Support/ Waste Mgmt/Remedia. Serv.	30.0%
Laurel	Manufacturing	24.6%
Lawrence	Admin. & Support/ Waste Mgmt/Remedia. Serv.	26.7%
Lee	Construction	50.0%
Lee	Retail Trade	50.0%
Leslie	Mining	42.9%
Letcher	Mining	41.5%

Table 7: Industry Attachement of Insured Unemployed During the Week Including the 19th by County of Residence

December 2019

County of Residence	Largest NAICS Sector	Percent of Insured Unemployed
Lewis	Construction	44.4%
Lincoln	Manufacturing	33.3%
Livingston	Professional/Scientific/Tech. Services	23.5%
Livingston	Information Not Available	23.5%
Logan	Manufacturing	23.3%
Logan	Professional/Scientific/Tech. Services	23.3%
Lyon	Health Care & Social Assistance	66.7%
Madison	Construction	20.0%
Madison	Manufacturing	20.0%
Magoffin	Construction	32.0%
Magoffin	Transportation & Warehouses	32.0%
Marion	Manufacturing	33.3%
Marshall	Manufacturing	41.1%
Martin	Admin. & Support/ Waste Mgmt/Remedia. Serv.	60.0%
Mason	Construction	58.3%
McCracken	Manufacturing	39.2%
McCreary	Construction	46.2%
McLean	Utilities	45.5%
Meade	Admin. & Support/ Waste Mgmt/Remedia. Serv.	22.2%
Menifee	Manufacturing	33.3%
Menifee	Accomodation and Food Services	33.3%
Mercer	Manufacturing	45.5%
Metcalfe	Manufacturing	42.9%
Monroe	Manufacturing	100.0%
Montgomery	Retail Trade	26.3%
Morgan	Construction	71.4%
Muhlenberg	Manufacturing	31.7%

Table 7: Industry Attachement of Insured Unemployed During the Week Including the 19th by County of Residence

December 2019

County of Residence	Largest NAICS Sector	Percent of Insured Unemployed
Nelson	Manufacturing	34.8%
Nicholas	Manufacturing	30.8%
Nicholas	Wholesale Trade	30.8%
Ohio	Construction	32.4%
Oldham	Finance & Insurance	27.8%
Owen	Accomodation and Food Services	100.0%
Owsley	Construction	100.0%
Pendleton	Manufacturing	62.5%
Perry	Mining	36.8%
Pike	Mining	39.1%
Powell	Wholesale Trade	40.0%
Pulaski	Health Care & Social Assistance	23.7%
Robertson	Retail Trade	100.0%
Rockcastle	Construction	20.8%
Rowan	Finance & Insurance	33.3%
Rowan	Accomodation and Food Services	33.3%
Russell	Construction	16.7%
Russell	Retail Trade	16.7%
Russell	Transportation & Warehouses	16.7%
Russell	Admin. & Support/ Waste Mgmt/Remedia. Serv.	16.7%
Russell	Arts, Entertianment & Recreation	16.7%
Russell	Information Not Available	16.7%
Scott	Admin. & Support/ Waste Mgmt/Remedia. Serv.	20.7%
Shelby	Manufacturing	19.4%
Shelby	Admin. & Support/ Waste Mgmt/Remedia. Serv.	19.4%
Shelby	Health Care & Social Assistance	19.4%
Simpson	Manufacturing	36.8%

Table 7: Industry Attachement of Insured Unemployed During the Week Including the 19th by County of Residence

December 2019

County of Residence	Largest NAICS Sector	Percent of Insured Unemployed
Spencer	Construction	33.3%
Taylor	Manufacturing	30.0%
Todd	Manufacturing	50.0%
Trigg	Manufacturing	37.5%
Trigg	Admin. & Support/ Waste Mgmt/Remedia. Serv.	37.5%
Trimble	Construction	100.0%
Union	Transportation & Warehouses	31.6%
Warren	Manufacturing	56.3%
Washington	Manufacturing	75.0%
Wayne	Construction	32.1%
Webster	Arts, Entertianment & Recreation	50.0%
Whitley	Health Care & Social Assistance	29.4%
Wolfe	Construction	22.2%
Wolfe	Admin. & Support/ Waste Mgmt/Remedia. Serv.	22.2%
Wolfe	Health Care & Social Assistance	22.2%
Woodford	Manufacturing	100.0%
Interstate	Construction	23.6%
Commuter	Manufacturing	20.9%

Table 8: Insured Unemployed From Coal Mining, Construction, and Manufacturing by County of Residence

County of Residence	Mining	Construction	Manufacturing
State Total	789	2,624	4,141
Adair	-	25	8
Allen	-	-	29
Anderson	-	8	146
Ballard	-	8	8
Barren	-	8	46
Bath	-	50	8
Bell	50	-	-
Boone	-	33	42
Bourbon	-	8	25
Boyd	-	29	50
Boyle	-	25	33
Bracken	-	8	8
Breathitt	-	17	38
Breckinridge	-	-	8
Bullitt	-	42	75
Butler	-	-	-
Caldwell	-	-	8
Calloway	-	17	-
Campbell	-	8	46
Carlisle	-	-	8
Carroll	-	-	-
Carter	-	83	50
Casey	-	-	8
Christian	-	8	129
Clark	-	-	17
Clay	-	-	-
Clinton	-	38	25

^{** -} During the week including the 19th.

Table 8: Insured Unemployed From Coal Mining, Construction, and Manufacturing by County of Residence

County of Residence	Mining	Construction	Manufacturing
Crittenden	-	-	-
Cumberland	-	17	-
Daviess	-	25	58
Edmonson	-	4	13
Elliott	-	-	-
Estill	-	13	17
Fayette	-	88	83
Fleming	-	-	-
Floyd	25	54	13
Franklin	-	4	17
Fulton	-	-	8
Gallatin	-	8	-
Garrard	-	-	13
Grant	-	8	-
Graves	-	42	38
Grayson	-	17	-
Green	-	-	33
Greenup	-	21	71
Hancock	-	-	-
Hardin	-	38	75
Harlan	204	8	25
Harrison	-	17	-
Hart	25	8	133
Henderson	8	17	25
Henry	-	33	25
Hickman	-	-	-
Hopkins	67	42	8
Jackson	-	-	54

^{** -} During the week including the 19th.

Table 8: Insured Unemployed From Coal Mining, Construction, and Manufacturing by County of Residence

County of Residence	Mining	Construction	Manufacturing
Jefferson	-	246	579
Jessamine	-	13	50
Johnson	-	25	8
Kenton	-	38	79
Knott	42	-	-
Knox	-	4	25
Larue	-	8	-
Laurel	8	17	67
Lawrence	-	8	-
Lee	-	8	-
Leslie	25	-	17
Letcher	71	8	8
Lewis	-	33	17
Lincoln	-	8	29
Livingston	-	13	8
Logan	-	25	29
Lyon	-	4	-
Madison	-	42	42
Magoffin	-	33	13
Marion	-	17	33
Marshall	-	25	96
Martin	8	-	-
Mason	8	58	17
McCracken	-	75	167
McCreary	-	25	-
McLean	-	17	-
Meade	-	8	17
Menifee	-	-	17

^{** -} During the week including the 19th.

Table 8: Insured Unemployed From Coal Mining, Construction, and Manufacturing by County of Residence

County of Residence	Mining	Construction	Manufacturing
Mercer	-	8	42
Metcalfe	-	8	13
Monroe	-	-	25
Montgomery	-	33	25
Morgan	-	42	-
Muhlenberg	25	38	54
Nelson	-	46	67
Nicholas	-	8	17
Ohio	8	46	17
Oldham	-	-	4
Owen	-	-	-
Owsley	-	8	-
Pendleton	-	13	21
Perry	58	33	-
Pike	75	17	-
Powell	-	-	-
Pulaski	-	42	50
Robertson	-	-	-
Rockcastle	-	21	8
Rowan	-	8	8
Russell	-	8	-
Scott	-	17	38
Shelby	-	-	25
Simpson	-	-	29
Spencer	-	17	-
Taylor	-	8	38
Todd	-	8	17
Trigg	-	-	25

^{** -} During the week including the 19th.

Table 8: Insured Unemployed From Coal Mining, Construction, and Manufacturing by County of Residence

County of Residence	Mining	Construction	Manufacturing
Trimble	-	8	-
Union	8	8	13
Warren	-	54	300
Washington	-	8	75
Wayne	-	38	25
Webster	-	-	-
Whitley	8	-	25
Wolfe	8	17	8
Woodford	-	-	67
Interstate	33	267	67
Commuter	25	158	196

^{** -} During the week including the 19th.

Table 9: Total Benefits Paid, Weeks Compensated, and Average Weekly Beneficiaries by County of Residence

County of Residence	Benefits	Weeks Compensated	Average Weekly Beneficiaries
State Total	28,601,682	74,970	16,868
Adair	95,974	293	66
Allen	71,424	201	45
Anderson	266,449	624	140
Ballard	58,815	177	40
Barren	240,900	706	159
Bath	113,106	309	70
Bell	272,184	657	148
Boone	535,153	1,289	290
Bourbon	121,360	328	74
Boyd	273,176	672	151
Boyle	147,681	378	85
Bracken	67,173	150	34
Breathitt	119,034	358	81
Breckinridge	116,331	343	77
Bullitt	551,835	1,398	315
Butler	86,415	225	51
Caldwell	84,547	244	55
Calloway	164,825	540	122
Campbell	363,991	843	190
Carlisle	24,449	67	15
Carroll	60,390	155	35
Carter	273,499	691	155
Casey	62,427	188	42
Christian	450,136	1,188	267
Clark	199,335	524	118
Clay	114,872	282	63
Clinton	57,910	205	46
Crittenden	38,651	112	25

Table 9: Total Benefits Paid, Weeks Compensated, and Average Weekly Beneficiaries by County of Residence

County of Residence	Benefits	Weeks Compensated	Average Weekly Beneficiaries
Cumberland	28,921	121	27
Daviess	466,646	1,237	278
Edmonson	60,433	192	43
Elliott	84,561	207	47
Estill	86,775	261	59
Fayette	1,325,640	3,332	750
Fleming	94,191	264	59
Floyd	244,778	694	156
Franklin	218,116	590	133
Fulton	18,582	63	14
Gallatin	23,372	59	13
Garrard	105,330	288	65
Grant	118,122	308	69
Graves	205,165	586	132
Grayson	232,545	704	158
Green	50,221	143	32
Greenup	227,497	560	126
Hancock	28,284	87	20
Hardin	643,854	1,729	389
Harlan	598,019	1,299	292
Harrison	82,951	240	54
Hart	287,127	759	171
Henderson	174,795	467	105
Henry	77,047	196	44
Hickman	20,632	76	17
Hopkins	274,810	719	162
Jackson	73,286	216	49
Jefferson	4,313,489	11,454	2,577
Jessamine	233,765	591	133

Table 9: Total Benefits Paid, Weeks Compensated, and Average Weekly Beneficiaries by County of Residence

County of Residence	Benefits	Weeks Compensated	Average Weekly Beneficiaries
Johnson	105,006	344	77
Kenton	744,429	1,928	434
Knott	84,532	219	49
Knox	146,875	439	99
Larue	83,790	233	52
Laurel	308,293	849	191
Lawrence	94,130	259	58
Lee	34,297	101	23
Leslie	202,534	442	99
Letcher	332,151	768	173
Lewis	101,145	272	61
Lincoln	113,748	328	74
Livingston	68,619	216	49
Logan	176,334	427	96
Lyon	43,176	119	27
Madison	419,878	1,112	250
Magoffin	213,499	554	125
Marion	107,464	283	64
Marshall	229,694	659	148
Martin	34,771	108	24
Mason	119,836	287	65
McCracken	408,202	1,169	263
McCreary	73,039	195	44
McLean	55,933	138	31
Meade	162,336	431	97
Menifee	68,069	218	49
Mercer	165,405	440	99
Metcalfe	85,060	243	55
Monroe	39,599	103	23

Table 9: Total Benefits Paid, Weeks Compensated, and Average Weekly Beneficiaries by County of Residence

County of Residence	Benefits	Weeks Compensated	Average Weekly Beneficiaries
Montgomery	213,709	567	128
Morgan	101,023	270	61
Muhlenberg	250,210	656	148
Nelson	297,432	773	174
Nicholas	43,760	122	27
Ohio	176,651	439	99
Oldham	219,656	505	114
Owen	37,373	110	25
Owsley	12,328	29	7
Pendleton	60,169	153	34
Perry	293,798	701	158
Pike	408,486	993	223
Powell	104,147	299	67
Pulaski	328,943	994	224
Robertson	9,951	54	12
Rockcastle	64,073	184	41
Rowan	158,495	450	101
Russell	87,253	334	75
Scott	265,264	715	161
Shelby	175,880	448	101
Simpson	163,892	386	87
Spencer	107,523	260	59
Taylor	127,272	423	95
Todd	74,245	185	42
Trigg	92,926	300	68
Trimble	38,225	88	20
Union	57,184	152	34
Warren	829,823	2,196	494
Washington	61,907	191	43

Table 9: Total Benefits Paid, Weeks Compensated, and Average Weekly Beneficiaries by County of Residence

County of Residence	Benefits	Weeks Compensated	Average Weekly Beneficiaries
Wayne	106,958	353	79
Webster	73,481	191	43
Whitley	181,121	596	134
Wolfe	63,080	173	39
Woodford	195,218	450	101
Interstate	1,090,319	2,543	572
Commuter	1,777,067	4,214	948

Table 10: Initial Claims UI-UCFE-UCX by County of Residence

December 2019

State Total	20,469
Adair	71
Allen	72
Anderson	383
Ballard	40
Barren	239
Bath	138
Bell	61
Boone	238
Bourbon	46
Boyd	198
Boyle	110
Bracken	43
Breathitt	78
Breckinridge	112
Bullitt	361
Butler	67
Caldwell	62
Calloway	238
Campbell	162
Carlisle	17
Carroll	44
Carter	317
Casey	73
Christian	517
Clark	113
Clay	35
Clinton	33
Crittenden	34

Cumberland	42
Daviess	371
Edmonson	63
Elliott	76
Estill	63
Fayette	612
Fleming	88
Floyd	116
Franklin	231
Fulton	13
Gallatin	25
Garrard	61
Grant	94
Graves	152
Grayson	292
Green	61
Greenup	196
Hancock	17
Hardin	936
Harlan	141
Harrison	39
Hart	101
Henderson	111
Henry	56
Hickman	22
Hopkins	173
Jackson	52
Jefferson	3,168
Jessamine	101

Includes all claims in which state funds are involved, including UI-only claims, and joint claims involving state UI with UCFE or UCX.

Table 10: Initial Claims UI-UCFE-UCX by County of Residence

December 2019

Johnson	90
Kenton	333
Knott	44
Knox	57
Larue	66
Laurel	145
Lawrence	75
Lee	35
Leslie	74
Letcher	87
Lewis	101
Lincoln	141
Livingston	73
Logan	83
Lyon	48
Madison	286
Magoffin	141
Marion	161
Marshall	195
Martin	30
Mason	93
McCracken	335
McCreary	62
McLean	39
Meade	120
Menifee	67
Mercer	88
Metcalfe	76
Monroe	63

Montgomery	167
Morgan	102
Muhlenberg	191
Nelson	453
Nicholas	30
Ohio	121
Oldham	113
Owen	23
Owsley	13
Pendleton	47
Perry	109
Pike	188
Powell	80
Pulaski	307
Robertson	13
Rockcastle	73
Rowan	156
Russell	52
Scott	147
Shelby	113
Simpson	85
Spencer	67
Taylor	264
Todd	39
Trigg	140
Trimble	29
Union	39
Warren	462
Washington	75

Includes all claims in which state funds are involved, including UI-only claims, and joint claims involving state UI with UCFE or UCX.

Table 10: Initial Claims UI-UCFE-UCX by County of Residence

December 2019

Wayne	88
Webster	44
Whitley	125
Wolfe	53

Woodford	44
Interstate	433
Commuter	940
Liable State	461

Includes all claims in which state funds are involved, including UI-only claims, and joint claims involving state UI with UCFE or UCX.

Table 11: New UI Claims by Class by County of Residence

December 2019

Local Office	Total New Claims	Class A	Class B	Class C	Other
State Total	11,321	5,608	5,713	-	-
Adair	40	15	25	-	-
Allen	43	14	29	-	-
Anderson	88	36	52	-	-
Ballard	23	5	18	-	-
Barren	144	71	73	-	-
Bath	80	34	46	-	-
Bell	35	26	9	-	-
Boone	164	90	74	-	-
Bourbon	36	27	9	-	-
Boyd	125	46	79	-	-
Boyle	57	30	27	-	-
Bracken	27	19	8	-	-
Breathitt	37	25	12	-	-
Breckinridge	60	25	35	-	-
Bullitt	176	94	82	-	-
Butler	45	23	22	-	-
Caldwell	27	12	15	-	-
Calloway	82	41	41	-	-
Campbell	113	64	49	-	-
Carlisle	11	4	7	-	-
Carroll	25	16	9	-	-
Carter	184	47	137	-	-

Claimant Classifications:

- A No recall date and specialized job skills
- B Positive return prospects
- C No definite recall date and non-specialized job skills

Table 11: New UI Claims by Class by County of Residence

December 2019

	Total New				
Local Office	Claims	Class A	Class B	Class C	Other
Casey	39	10	29	-	-
Christian	173	103	70	-	-
Clark	79	64	15	-	-
Clay	23	17	6	-	-
Clinton	20	10	10	-	-
Crittenden	18	12	6	-	-
Cumberland	27	8	19	-	-
Daviess	230	126	104	-	-
Edmonson	29	12	17	-	-
Elliott	48	12	36	-	-
Estill	42	15	27	-	-
Fayette	438	304	134	-	-
Fleming	46	15	31	-	-
Floyd	74	38	36	-	-
Franklin	171	57	114	-	-
Fulton	8	3	5	-	-
Gallatin	18	12	6	-	-
Garrard	35	20	15	-	-
Grant	73	41	32	-	-
Graves	69	37	32	-	-
Grayson	106	32	74	-	-
Green	39	8	31	-	-
Greenup	127	53	74	-	-

Claimant Classifications:

- A No recall date and specialized job skills
- B Positive return prospects
- C No definite recall date and non-specialized job skills

Table 11: New UI Claims by Class by County of Residence

December 2019

Total New				
Claims	Class A	Class B	Class C	Other
11	5	6	-	-
355	149	206	-	-
45	35	10	-	-
33	21	12	-	-
56	29	27	-	-
72	35	37	-	-
35	18	17	-	-
14	4	10	-	-
86	58	28	-	-
37	12	25	-	-
1,674	995	679	-	-
72	48	24	-	-
63	26	37	-	-
223	145	78	-	-
31	16	15	-	-
35	22	13	-	-
41	19	22	-	-
106	68	38	-	-
48	22	26	-	-
22	13	9	-	-
40	35	5	-	-
52	34	18	-	-
64	19	45	-	-
	11 355 45 33 56 72 35 14 86 37 1,674 72 63 223 31 35 41 106 48 22 40 52	Claims Class A 11 5 355 149 45 35 33 21 56 29 72 35 35 18 14 4 86 58 37 12 1,674 995 72 48 63 26 223 145 31 16 35 22 41 19 106 68 48 22 22 13 40 35 52 34	Claims Class A Class B 11 5 6 355 149 206 45 35 10 33 21 12 56 29 27 72 35 37 35 18 17 14 4 10 86 58 28 37 12 25 1,674 995 679 72 48 24 63 26 37 223 145 78 31 16 15 35 22 13 41 19 22 106 68 38 48 22 26 22 13 9 40 35 5 52 34 18	Claims Class A Class B Class C 11 5 6 - 355 149 206 - 45 35 10 - 33 21 12 - 56 29 27 - 72 35 37 - 35 18 17 - 14 4 10 - 86 58 28 - 37 12 25 - 1,674 995 679 - 72 48 24 - 63 26 37 - 223 145 78 - 31 16 15 - 35 22 13 - 41 19 22 - 106 68 38 - 48 22 26 - 22 13

Claimant Classifications:

- A No recall date and specialized job skills
- B Positive return prospects
- C No definite recall date and non-specialized job skills

Table 11: New UI Claims by Class by County of Residence

December 2019

	Total New				
Local Office	Claims	Class A	Class B	Class C	Other
Lincoln	74	29	45	-	-
Livingston	42	14	28	-	-
Logan	47	21	26	-	-
Lyon	24	6	18	-	-
Madison	204	94	110	-	-
Magoffin	73	17	56	-	-
Marion	106	19	87	-	-
Marshall	91	37	54	-	-
Martin	18	8	10	-	-
Mason	49	19	30	-	-
McCracken	218	97	121	-	-
McCreary	42	13	29	-	-
McLean	18	7	11	-	-
Meade	75	34	41	-	-
Menifee	34	12	22	-	-
Mercer	57	27	30	-	-
Metcalfe	53	7	46	-	-
Monroe	42	5	37	-	-
Montgomery	108	47	61	-	-
Morgan	58	22	36	-	-
Muhlenberg	109	56	53	-	-
Nelson	319	55	264	-	-
Nicholas	21	11	10	-	-

Claimant Classifications:

- A No recall date and specialized job skills
- B Positive return prospects
- C No definite recall date and non-specialized job skills

Table 11: New UI Claims by Class by County of Residence

December 2019

	Total New				
Local Office	Claims	Class A	Class B	Class C	Other
Ohio	73	39	34	-	-
Oldham	77	41	36	-	-
Owen	16	7	9	-	-
Owsley	6	3	3	-	-
Pendleton	26	15	11	-	-
Perry	74	53	21	-	-
Pike	123	59	64	-	-
Powell	51	32	19	-	-
Pulaski	208	93	115	-	-
Robertson	8	4	4	-	-
Rockcastle	49	18	31	-	-
Rowan	91	32	59	-	-
Russell	31	22	9	-	-
Scott	94	61	33	-	-
Shelby	78	49	29	-	-
Simpson	44	27	17	-	-
Spencer	38	19	19	-	-
Taylor	133	30	103	-	-
Todd	18	15	3	-	-
Trigg	48	25	23	-	-
Trimble	18	12	6	-	-
Union	22	11	11	-	-
Warren	271	121	150	-	-

Claimant Classifications:

- A No recall date and specialized job skills
- B Positive return prospects
- C No definite recall date and non-specialized job skills

Table 11: New UI Claims by Class by County of Residence

December 2019

Local Office	Total New Claims	Class A	Class B	Class C	Other
Washington	53	9	44	-	-
Wayne	57	16	41	-	-
Webster	27	16	11	-	-
Whitley	86	43	43	-	-
Wolfe	25	17	8	-	-
Woodford	28	15	13	-	-
Interstate	247	168	79	-	-
Commuter	550	278	272	-	-

Claimant Classifications:

- A No recall date and specialized job skills
- B Positive return prospects
- C No definite recall date and non-specialized job skills

Table 12: Average Duration of Claims by County of Residence

December 2019

		All Claimants			"B" Claimants
County of Residence	Average Duration Two Years Prior	Average Duration One Year Prior	Current Period Average Duration	Current Period Average Duration	Current Period Average Duration
State Total	18.8	19.0	18.2	21.5	10.7
Adair	17.9	15.9	16.8	24.0	7.3
Allen	14.4	17.8	17.1	24.9	7.0
Anderson	15.8	18.1	16.1	19.6	9.0
Ballard	19.0	24.1	20.4	22.5	18.0
Barren	17.3	19.0	16.1	20.6	8.5
Bath	20.1	19.1	17.0	22.7	8.7
Bell	21.3	22.0	17.0	18.8	8.9
Boone	18.2	18.8	18.1	20.8	8.4
Bourbon	23.0	18.9	17.3	19.9	8.5
Boyd	20.0	20.0	19.5	23.2	13.5
Boyle	18.5	18.7	18.2	21.1	10.6
Bracken	18.0	17.4	15.9	18.6	11.0
Breathitt	20.2	17.7	15.4	17.4	8.1
Breckinridge	16.7	15.0	16.8	23.4	9.7
Bullitt	16.8	16.3	19.2	23.6	10.9
Butler	15.9	18.8	15.3	18.2	10.8
Caldwell	21.3	14.4	16.4	20.4	9.9
Calloway	17.8	12.4	17.2	23.4	11.4
Campbell	18.7	15.8	18.9	22.0	8.4
Carlisle	24.0	23.0	19.9	22.1	16.1

Current period's duration is for the 12 months ending with the current month.

Duration is for regular program only.

[&]quot;A" Claimants - Claimant who do not have a definite recall date.

[&]quot;B" Claimants - Claimant who have a definite recall date.

Table 12: Average Duration of Claims by County of Residence

December 2019

		"A" Claimants	"B" Claimants		
County of Residence	Average Duration Two Years Prior	Average Duration One Year Prior	Current Period Average Duration	Current Period Average Duration	Current Period Average Duration
Carroll	18.1	18.0	20.3	22.9	13.0
Carter	19.4	16.1	17.3	21.8	14.2
Casey	20.9	22.5	22.0	25.9	15.8
Christian	20.0	20.1	15.7	18.4	6.9
Clark	19.9	20.2	18.1	20.5	9.5
Clay	20.0	17.8	17.5	21.8	7.5
Clinton	17.1	21.8	16.0	20.9	6.3
Crittenden	19.7	19.2	19.0	29.1	10.1
Cumberland	15.9	14.8	16.2	22.1	7.4
Daviess	18.1	20.2	18.0	19.3	14.9
Edmonson	15.6	16.4	12.1	19.5	5.5
Elliott	20.0	15.5	15.7	20.4	13.4
Estill	18.9	18.3	15.9	24.2	6.0
Fayette	19.1	20.1	19.8	21.4	8.8
Fleming	17.8	18.9	19.3	21.6	13.8
Floyd	18.3	21.0	16.8	19.3	10.1
Franklin	19.0	16.5	18.0	21.0	8.4
Fulton	30.4	16.3	16.3	20.8	4.2
Gallatin	23.0	20.5	21.4	24.5	14.0
Garrard	18.6	20.2	19.2	24.9	8.8
Grant	18.7	18.9	17.2	20.4	10.5

Current period's duration is for the 12 months ending with the current month.

Duration is for regular program only.

[&]quot;A" Claimants - Claimant who do not have a definite recall date.

[&]quot;B" Claimants - Claimant who have a definite recall date.

Table 12: Average Duration of Claims by County of Residence

December 2019

		All Claimant	s	"A" Claimants	"B" Claimants	
County of Residence	Average Duration Two Years Prior	Average Duration One Year Prior	Current Period Average Duration	Current Period Average Duration	Current Period Average Duration	
Graves	19.5	19.8	20.0	23.0	14.4	
Grayson	15.9	14.4	17.9	20.9	14.5	
Green	20.4	15.9	19.4	26.8	8.4	
Greenup	21.1	18.9	18.0	21.9	12.4	
Hancock	18.1	18.6	16.9	20.0	13.6	
Hardin	16.2	16.8	17.4	20.6	10.0	
Harlan	19.8	18.8	17.0	17.3	14.2	
Harrison	20.8	19.2	20.8	23.9	8.1	
Hart	23.9	14.2	14.3	15.8	9.1	
Henderson	21.2	16.5	16.9	19.9	11.3	
Henry	19.1	16.3	18.4	22.9	10.9	
Hickman	21.6	26.7	17.9	22.6	10.5	
Hopkins	16.1	16.8	15.3	18.0	10.1	
Jackson	19.5	16.0	20.0	31.2	10.1	
Jefferson	18.8	20.8	20.2	22.9	11.9	
Jessamine	17.4	19.4	19.8	22.3	8.7	
Johnson	19.6	19.6	16.6	20.0	10.7	
Kenton	18.1	18.6	17.5	20.2	8.0	
Knott	20.6	19.7	18.7	20.3	13.6	
Knox	22.3	18.0	20.1	24.8	8.7	
Larue	16.0	15.9	16.2	22.0	7.5	

Current period's duration is for the 12 months ending with the current month.

Duration is for regular program only.

[&]quot;A" Claimants - Claimant who do not have a definite recall date.

[&]quot;B" Claimants - Claimant who have a definite recall date.

Table 12: Average Duration of Claims by County of Residence

December 2019

		All Claimant	s	"A" Claimants	"B" Claimants
County of Residence	Average Duration Two Years Prior	Average Duration One Year Prior	Current Period Average Duration	Current Period Average Duration	Current Period Average Duration
Laurel	20.3	19.8	20.6	22.4	11.4
Lawrence	20.9	19.8	19.7	22.8	14.2
Lee	18.4	19.4	17.1	21.4	7.8
Leslie	18.1	20.2	14.7	15.2	9.3
Letcher	19.7	16.8	17.4	20.9	7.2
Lewis	19.8	17.7	18.6	21.3	14.5
Lincoln	17.0	16.3	14.5	20.8	7.2
Livingston	23.2	19.1	16.8	22.5	11.9
Logan	17.6	18.0	19.1	22.2	9.3
Lyon	22.5	22.7	17.6	24.4	12.4
Madison	18.9	18.8	19.9	23.9	7.9
Magoffin	18.5	19.2	17.2	20.4	15.4
Marion	17.5	13.8	18.3	26.0	6.7
Marshall	19.8	19.9	17.3	21.4	13.3
Martin	19.6	21.7	20.6	22.2	14.7
Mason	20.6	20.8	19.1	20.0	16.9
McCracken	20.0	23.9	18.7	20.3	15.7
McCreary	14.8	15.8	17.1	22.8	6.8
McLean	18.8	24.3	18.7	20.7	16.3
Meade	16.7	16.3	17.7	21.1	10.9
Menifee	18.2	20.6	16.3	22.1	10.0

Current period's duration is for the 12 months ending with the current month.

Duration is for regular program only.

[&]quot;A" Claimants - Claimant who do not have a definite recall date.

[&]quot;B" Claimants - Claimant who have a definite recall date.

Table 12: Average Duration of Claims by County of Residence

December 2019

		All Claimant	s	"A" Claimants	"B" Claimants
County of Residence	Average Duration Two Years Prior	Average Duration One Year Prior	Current Period Average Duration	Current Period Average Duration	Current Period Average Duration
Mercer	19.0	16.8	16.1	20.9	7.0
Metcalfe	17.9	14.4	14.3	22.7	5.3
Monroe	17.0	18.1	18.9	22.5	13.1
Montgomery	20.7	22.8	18.7	22.9	11.1
Morgan	20.0	19.5	16.8	23.6	10.1
Muhlenberg	17.5	21.5	18.4	20.1	16.5
Nelson	12.9	12.2	16.2	27.2	5.3
Nicholas	21.6	18.6	17.9	20.7	7.0
Ohio	18.4	19.7	16.0	17.7	14.0
Oldham	20.2	19.6	20.0	22.5	10.3
Owen	21.5	21.4	22.5	28.2	11.3
Owsley	18.3	23.3	17.4	19.6	11.8
Pendleton	21.6	17.4	17.2	22.1	8.8
Perry	22.5	21.0	15.4	16.5	8.0
Pike	20.7	20.5	14.1	16.5	9.4
Powell	19.2	18.0	18.7	22.6	10.2
Pulaski	19.8	20.6	19.7	22.0	14.2
Robertson	15.2	23.1	15.6	17.5	6.8
Rockcastle	18.5	15.7	21.8	26.4	11.9
Rowan	19.0	17.2	16.7	21.4	10.4
Russell	21.2	16.1	18.2	24.0	6.8

Current period's duration is for the 12 months ending with the current month.

Duration is for regular program only.

[&]quot;A" Claimants - Claimant who do not have a definite recall date.

[&]quot;B" Claimants - Claimant who have a definite recall date.

Table 12: Average Duration of Claims by County of Residence

December 2019

		All Claimant	s	"A" Claimants	"B" Claimants
County of Residence	Average Duration Two Years Prior	Average Duration One Year Prior	Current Period Average Duration	Current Period Average Duration	Current Period Average Duration
Scott	19.4	19.3	20.5	22.8	8.8
Shelby	15.3	15.2	17.8	21.9	7.6
Simpson	19.4	19.2	19.2	22.7	9.3
Spencer	17.0	16.4	17.3	21.8	8.6
Taylor	19.2	18.8	18.4	24.4	7.2
Todd	19.5	18.8	15.8	17.5	8.8
Trigg	16.0	17.1	13.6	16.8	8.3
Trimble	19.5	22.2	21.8	23.2	17.3
Union	20.8	18.2	13.6	17.9	5.4
Warren	15.4	18.7	14.6	20.9	5.2
Washington	14.0	12.0	16.8	27.5	5.5
Wayne	20.4	21.3	17.7	23.2	7.9
Webster	18.3	16.4	15.0	18.1	8.2
Whitley	21.5	19.7	20.5	23.2	8.1
Wolfe	16.7	17.7	13.7	17.4	9.4
Woodford	16.7	21.2	17.8	20.7	5.6
Interstate	25.1	24.1	22.8	22.6	23.1
Commuter	18.6	19.4	18.3	20.2	13.2

Current period's duration is for the 12 months ending with the current month. Duration is for regular program only.

[&]quot;A" Claimants - Claimant who do not have a definite recall date.

[&]quot;B" Claimants - Claimant who have a definite recall date.

Table 13: UI Non-Monetary Determinations Time Lapse Affected Week Separations by County of Residence

December 2019

County of Residence	Less Than 7 Days	8 - 14 Days	15 - 21 Days	Total Timely	Greater Than 70 Days	County Total	Percent Timely
State Total	1,974	220	98	2,292	189	2,703	84.8%
Adair	6	1	1	8	-	8	100.0%
Allen	6	1	-	7	-	7	100.0%
Anderson	17	1	-	18	-	18	100.0%
Ballard	4	-	-	4	-	5	80.0%
Barren	26	1	1	28	2	35	80.0%
Bath	13	1	-	14	1	15	93.3%
Bell	5	-	-	5	1	7	71.4%
Boone	31	6	4	41	1	49	83.7%
Bourbon	7	-	1	8	-	10	80.0%
Boyd	20	1	2	23	-	25	92.0%
Boyle	20	-	1	21	1	23	91.3%
Bracken	2	-	-	2	-	4	50.0%
Breathitt	4	-	-	4	1	6	66.7%
Breckinridge	7	-	-	7	-	7	100.0%
Bullitt	25	7	1	33	6	46	71.7%
Butler	5	-	2	7	-	7	100.0%
Caldwell	7	-	-	7	-	8	87.5%
Calloway	8	-	-	8	-	9	88.9%
Campbell	21	3	1	25	2	29	86.2%
Carlisle	1	-	-	1	-	1	100.0%
Carroll	3	2	1	6	2	8	75.0%
Carter	2	-	-	2	1	3	66.7%
Casey	6	-	-	6	1	9	66.7%
Christian	40	4	2	46	4	55	83.6%
Clark	17	3	1	21	1	22	95.5%
Clay	10	-	-	10	3	14	71.4%

Table 13: UI Non-Monetary Determinations Time Lapse Affected Week Separations by County of Residence

December 2019

County of Residence	Less Than 7 Days	8 - 14 Days	15 - 21 Days	Total Timely	Greater Than 70 Days	County Total	Percent Timely
Clinton	3	-	-	3	-	3	100.0%
Crittenden	1	-	-	1	-	1	100.0%
Cumberland	1	-	-	1	1	2	50.0%
Daviess	50	3	2	55	5	66	83.3%
Edmonson	5	-	-	5	2	9	55.6%
Elliott	3	-	-	3	1	4	75.0%
Estill	9	1	-	10	-	10	100.0%
Fayette	114	14	3	131	18	161	81.4%
Fleming	6	-	-	6	-	7	85.7%
Floyd	6	2	-	8	2	12	66.7%
Franklin	27	2	2	31	3	37	83.8%
Fulton	3	-	-	3	-	4	75.0%
Gallatin	3	1	-	4	-	5	80.0%
Garrard	14	-	1	15	-	15	100.0%
Grant	14	-	2	16	3	20	80.0%
Graves	17	2	-	19	1	24	79.2%
Grayson	16	1	-	17	2	20	85.0%
Green	5	-	-	5	-	5	100.0%
Greenup	10	-	-	10	1	13	76.9%
Hancock	1	-	-	1	-	2	50.0%
Hardin	59	10	4	73	6	88	83.0%
Harlan	6	2	-	8	2	11	72.7%
Harrison	5	1	-	6	2	8	75.0%
Hart	16	-	1	17	-	18	94.4%
Henderson	18	4	1	23	1	25	92.0%
Henry	9	-	-	9	-	9	100.0%
Hickman	2	-	1	3	-	3	100.0%

Table 13: UI Non-Monetary Determinations Time Lapse Affected Week Separations by County of Residence

December 2019

County of Residence	Less Than 7 Days	8 - 14 Days	15 - 21 Days	Total Timely	Greater Than 70 Days	County Total	Percent Timely
Hopkins	21	3	-	24	3	32	75.0%
Jackson	3	-	1	4	-	4	100.0%
Jefferson	373	52	20	445	39	533	83.5%
Jessamine	24	2	-	26	3	29	89.7%
Johnson	11	2	-	13	-	13	100.0%
Kenton	52	6	1	59	4	66	89.4%
Knott	2	-	-	2	1	3	66.7%
Knox	10	1	-	11	1	14	78.6%
Larue	5	1	-	6	-	7	85.7%
Laurel	32	1	3	36	-	37	97.3%
Lawrence	7	1	1	9	-	10	90.0%
Lee	1	-	1	2	-	2	100.0%
Leslie	5	1	-	6	2	8	75.0%
Letcher	9	-	-	9	-	10	90.0%
Lewis	6	2	-	8	1	9	88.9%
Lincoln	10	-	1	11	-	13	84.6%
Livingston	3	1	1	5	1	6	83.3%
Logan	11	1	-	12	1	13	92.3%
Lyon	1	-	-	1	-	2	50.0%
Madison	39	3	1	43	1	46	93.5%
Magoffin	6	-	-	6	1	7	85.7%
Marion	14	-	1	15	-	15	100.0%
Marshall	7	3	-	10	3	16	62.5%
Martin	-	-	-	-	-	-	-
Mason	9	-	-	9	-	9	100.0%
McCracken	38	2	1	41	4	48	85.4%
McCreary	5	-	1	6	-	6	100.0%

Table 13: UI Non-Monetary Determinations Time Lapse Affected Week Separations by County of Residence

December 2019

County of Residence	Less Than 7 Days	8 - 14 Days	15 - 21 Days	Total Timely	Greater Than 70 Days	County Total	Percent Timely
McLean	8	-	-	8	1	9	88.9%
Meade	9	4	-	13	-	14	92.9%
Menifee	6	-	-	6	2	8	75.0%
Mercer	10	-	1	11	-	12	91.7%
Metcalfe	3	-	-	3	1	4	75.0%
Monroe	1	1	-	2	1	3	66.7%
Montgomery	21	2	2	25	1	29	86.2%
Morgan	3	-	-	3	-	3	100.0%
Muhlenberg	21	1	-	22	1	26	84.6%
Nelson	26	2	-	28	3	35	80.0%
Nicholas	1	-	-	1	-	1	100.0%
Ohio	8	-	3	11	2	15	73.3%
Oldham	14	3	1	18	-	19	94.7%
Owen	1	-	-	1	1	2	50.0%
Owsley	-	-	1	1	-	1	100.0%
Pendleton	2	-	1	3	1	4	75.0%
Perry	8	-	1	9	2	14	64.3%
Pike	17	3	1	21	1	24	87.5%
Powell	5	-	-	5	-	6	83.3%
Pulaski	29	-	2	31	1	34	91.2%
Robertson	1	-	-	1	-	1	100.0%
Rockcastle	7	-	-	7	-	8	87.5%
Rowan	12	-	1	13	1	15	86.7%
Russell	8	1	-	9	-	10	90.0%
Scott	19	6	1	26	3	29	89.7%
Shelby	18	4	1	23	1	26	88.5%
Simpson	11	3	-	14	1	16	87.5%

Table 13: UI Non-Monetary Determinations Time Lapse Affected Week Separations by County of Residence

County of Residence	Less Than 7 Days	8 - 14 Days	15 - 21 Days	Total Timely	Greater Than 70 Days	County Total	Percent Timely
Spencer	7	-	-	7	-	7	100.0%
Taylor	10	1	1	12	-	12	100.0%
Todd	1	-	-	1	-	1	100.0%
Trigg	4	-	-	4	2	6	66.7%
Trimble	3	-	-	3	-	3	100.0%
Union	9	-	-	9	-	9	100.0%
Warren	54	9	3	66	6	79	83.5%
Washington	4	-	-	4	1	6	66.7%
Wayne	6	-	1	7	2	11	63.6%
Webster	3	-	1	4	-	4	100.0%
Whitley	16	5	1	22	1	24	91.7%
Wolfe	6	1	-	7	-	8	87.5%
Woodford	8	3	-	11	1	12	91.7%
Interstate	49	5	3	57	5	70	81.4%
Commuter	85	10	4	99	5	113	87.6%

Table 14: UI Non-Monetary Determinations Time Lapse Affected Week Non-Separations by County of Residence

December 2019

County of Residence	Less Than 7 Days	8 - 14 Days	15 - 21 Days	Total Timely	Greater Than 70 Days	County Total	Percent Timely
State Total	961	238	83	1,282	246	1,785	71.8%
Adair	1	-	-	1	1	2	50.0%
Allen	2	-	-	2	2	4	50.0%
Anderson	10	1	1	12	2	15	80.0%
Ballard	-	-	-	-	-	-	-
Barren	8	1	-	9	1	13	69.2%
Bath	2	1	-	3	1	4	75.0%
Bell	6	1	-	7	-	8	87.5%
Boone	24	6	2	32	3	41	78.0%
Bourbon	4	1	-	5	-	5	100.0%
Boyd	9	4	1	14	2	17	82.4%
Boyle	1	3	-	4	-	6	66.7%
Bracken	3	-	1	4	-	4	100.0%
Breathitt	4	1	-	5	-	6	83.3%
Breckinridge	4	1	1	6	-	8	75.0%
Bullitt	13	7	-	20	3	24	83.3%
Butler	7	-	-	7	3	11	63.6%
Caldwell	3	1	-	4	3	9	44.4%
Calloway	8	2	2	12	1	14	85.7%
Campbell	13	8	1	22	2	25	88.0%
Carlisle	1	-	1	2	-	2	100.0%
Carroll	5	1	-	6	-	7	85.7%
Carter	4	2	-	6	1	9	66.7%
Casey	4	2	-	6	-	7	85.7%
Christian	16	3	5	24	9	45	53.3%
Clark	15	2	1	18	1	20	90.0%
Clay	4	2	-	6	1	7	85.7%

Table 14: UI Non-Monetary Determinations Time Lapse Affected Week Non-Separations by County of Residence

December 2019

County of Residence	Less Than 7 Days	8 - 14 Days	15 - 21 Days	Total Timely	Greater Than 70 Days	County Total	Percent Timely
Clinton	2	-	-	2	-	2	100.0%
Crittenden	1	-	-	1	-	1	100.0%
Cumberland	-	1	-	1	1	2	50.0%
Daviess	24	4	1	29	3	35	82.9%
Edmonson	5	1	-	6	1	9	66.7%
Elliott	-	1	-	1	1	2	50.0%
Estill	2	1	-	3	1	4	75.0%
Fayette	68	17	6	91	14	117	77.8%
Fleming	3	2	-	5	1	6	83.3%
Floyd	7	-	1	8	4	12	66.7%
Franklin	5	3	1	9	6	17	52.9%
Fulton	3	-	-	3	-	4	75.0%
Gallatin	1	2	-	3	-	3	100.0%
Garrard	5	1	1	7	-	7	100.0%
Grant	3	2	2	7	1	10	70.0%
Graves	9	2	-	11	-	17	64.7%
Grayson	2	2	1	5	2	10	50.0%
Green	5	-	-	5	-	6	83.3%
Greenup	3	2	-	5	3	11	45.5%
Hancock	1	1	-	2	1	5	40.0%
Hardin	24	5	3	32	2	43	74.4%
Harlan	6	2	-	8	1	11	72.7%
Harrison	3	-	-	3	-	5	60.0%
Hart	19	2	-	21	-	22	95.5%
Henderson	1	1	-	2	2	5	40.0%
Henry	1	3	-	4	-	4	100.0%
Hickman	3	1	-	4	-	5	80.0%

Table 14: UI Non-Monetary Determinations Time Lapse Affected Week Non-Separations by County of Residence

December 2019

County of Residence	Less Than 7 Days	8 - 14 Days	15 - 21 Days	Total Timely	Greater Than 70 Days	County Total	Percent Timely
Hopkins	14	1	-	15	3	21	71.4%
Jackson	7	3	-	10	-	10	100.0%
Jefferson	174	40	11	225	78	350	64.3%
Jessamine	5	1	1	7	-	9	77.8%
Johnson	3	2	1	6	-	7	85.7%
Kenton	30	4	2	36	3	46	78.3%
Knott	1	-	-	1	-	1	100.0%
Knox	6	-	1	7	1	8	87.5%
Larue	4	-	1	5	-	5	100.0%
Laurel	14	5	-	19	5	30	63.3%
Lawrence	4	-	2	6	-	7	85.7%
Lee	1	1	-	2	-	2	100.0%
Leslie	1	1	1	3	2	5	60.0%
Letcher	1	2	1	4	1	8	50.0%
Lewis	2	1	1	4	3	7	57.1%
Lincoln	4	-	1	5	-	6	83.3%
Livingston	3	1	1	5	-	6	83.3%
Logan	8	1	2	11	2	14	78.6%
Lyon	2	-	-	2	-	3	66.7%
Madison	15	4	-	19	5	28	67.9%
Magoffin	2	-	-	2	1	3	66.7%
Marion	5	-	2	7	1	9	77.8%
Marshall	4	2	-	6	1	9	66.7%
Martin	-	-	-	-	-	-	-
Mason	1	1	-	2	-	2	100.0%
McCracken	10	7	1	18	5	29	62.1%
McCreary	3	1	-	4	1	5	80.0%

Table 14: UI Non-Monetary Determinations Time Lapse Affected Week Non-Separations by County of Residence

December 2019

County of Residence	Less Than 7 Days	8 - 14 Days	15 - 21 Days	Total Timely	Greater Than 70 Days	County Total	Percent Timely
McLean	1	-	-	1	1	2	50.0%
Meade	2	-	-	2	-	2	100.0%
Menifee	1	-	-	1	-	1	100.0%
Mercer	5	2	-	7	-	12	58.3%
Metcalfe	1	-	-	1	-	1	100.0%
Monroe	1	-	-	1	1	3	33.3%
Montgomery	6	1	-	7	-	8	87.5%
Morgan	2	-	-	2	-	3	66.7%
Muhlenberg	10	-	-	10	1	14	71.4%
Nelson	12	1	1	14	2	19	73.7%
Nicholas	-	-	-	-	-	-	-
Ohio	3	1	1	5	1	7	71.4%
Oldham	10	3	1	14	1	16	87.5%
Owen	1	-	-	1	-	1	100.0%
Owsley	1	-	-	1	-	1	100.0%
Pendleton	7	-	-	7	-	8	87.5%
Perry	4	5	-	9	-	12	75.0%
Pike	6	-	2	8	-	11	72.7%
Powell	6	-	-	6	1	7	85.7%
Pulaski	8	-	-	8	5	15	53.3%
Robertson	-	-	-	-	-	1	-
Rockcastle	2	-	-	2	-	3	66.7%
Rowan	5	5	1	11	3	16	68.8%
Russell	5	1	1	7	1	8	87.5%
Scott	14	-	-	14	3	21	66.7%
Shelby	10	-	1	11	5	17	64.7%
Simpson	10	-	-	10	2	12	83.3%

Table 14: UI Non-Monetary Determinations Time Lapse Affected Week Non-Separations by County of Residence

County of Residence	Less Than 7 Days	8 - 14 Days	15 - 21 Days	Total Timely	Greater Than 70 Days	County Total	Percent Timely
Taylor	1	-	1	2	1	5	40.0%
Todd	2	-	-	2	1	3	66.7%
Trigg	2	1	-	3	1	5	60.0%
Trimble	1	2	-	3	-	6	50.0%
Union	2	2	1	5	-	6	83.3%
Warren	31	13	5	49	5	65	75.4%
Washington	5	-	-	5	-	7	71.4%
Wayne	4	-	1	5	-	8	62.5%
Webster	1	-	-	1	-	1	100.0%
Whitley	11	2	1	14	2	19	73.7%
Wolfe	4	-	-	4	-	5	80.0%
Woodford	7	2	1	10	1	13	76.9%
Interstate	11	4	3	18	7	31	58.1%
Commuter	42	9	1	52	6	66	78.8%